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The Kidney and Its Role in pH 
Regulation 
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Lecture Objectives: 
 Explain the roles of renal reabsorption of filtered 

bicarbonate, formation of titratable acid, and urinary 
acidification in the kidney’s. And the ability to reclaim 
filtered bicarbonate and generate new bicarbonate to 
replace that lost titrating fixed acids in the body. 

 Discuss the factors that influence renal secretion and 
excretion of hydrogen ions in the context of the kidney’s 
role in maintaining acid-base balance. 

 Explain how cells maintain stability of intracellular pH. 

 List the four simple acid-base disturbances, and describe 
for each the primary defect, changes in arterial blood 
chemistry (pH, PCO2, and plasma HCO3

−). 

 Describe the common clinical causes of acid-base 
disorders (acidosis and alkalosis), chemical buffering 
processes, and degree of respiratory and renal 
compensations. 



The role of the kidney in controlling 
extracellular pH is by: 

1. Secretion of H+ ions 
2. Reabsorption of filtered HCO3

- ions 
3. Production of new HCO3

- ions 



 CO نم صلختلا قيرط نع H نم صلختت نكمم lung لا ام لثم
 هسفن H نم صلخت نا اهناكمإب kidney لا
 kidney لا يف حيشرتلا وضع(glomeruli لا نم حشريب يللا ،، H قلطت ةيلكلا
)ةريبكلا ءايشKا ادع ام يشلك هيف حشريبو

renal filtrate وانما urine ويلي برشح ما بنسميه
حشر يذلا HCO لك ، buffer لا عجرتست ونا ةيسيئرلا اهفئاظو نم ةيلكلا

 ديدج HCO عنصت اهنا نكمم ةيلكلا ينعي



■ Normally HCO3
- ions are filtered continuously into 

the renal tubules. If these ions are not reabsorbed → 
base will be removed from the blood 

■ Large number of H+ ions also secreted into the 
tubular lumen by epithelial cells → acid removal from 
the blood 

■ If H+ ion secretion exceeds HCO3
- ion secretion the 

net result is acid removal from the extracellular fluid, 
and vice versa 

■ Normally the kidney prevents the loss of HCO3
- ions 

in the urine (the urine is acidic) to conserve the 
primary buffer system of the extracellular fluids 



buffer لا وه ونلا ورسخن ام مزلاو رمتسم لكشبو glomeruli لا نم لزني HCO لا

 H نويلم حرطت حر تحرط اذا ةيلكلا ، HCO نويلم glomeruil لا نم لزن ضرتفنل
 ةدعاق لاو ضمح انرسخ ام ةلداعتم ةجيتنلا           
acid رسخن حر                 H عبرو نويلم قلطت ةيلكلا اذا نكل
base رسخن حر          H نويلم عابرا تلات ةيلكلا تقلطا اذاو

في العادة نخسر acid،،رح ندرس بالمستقبل انو ph ال urine بميل للحموضة متل المعدة 
بس المعدة مافيها buffer لكنها حامضة كتير 

 HCO نم رتكا H قلطت ةيلكلا اذا        urine (acidic) لا ونا ابم

الخطة العامة انو ا;فروض HCO ينسحب كله "نو هو ال buffer لكن في حا"ت 
خاصة ،، اذا القلوية عنا زادت اكتر من الطبيعي الكلية تسمح لبعض ال HCO انو يضيع 

 regulater هي اقوى kidney ال



■ 4320 mEq of H+ ions must be secreted/day just to 
reabsorb the filtered HCO3

-. Then additional 80 mEq 
of H+ must be secreted to rid the body of the 
nonvolatile acids 

■ Loss of HCO3
- by the kidney is the same as adding 

H+ to the extracellular fluid 

■ In acidosis the kidney reabsorb all filtered HCO3
- and 

produces new HCO3
- which is added to the 

extracellular fluid 

■ In the renal tubule wherever H+ ion is secreted HCO3
- 

is reabsorbed. Virtually all parts of the tubule secrete 
H+ except the descending and ascending thin loop of 
Henle 



التخلص من volatile acids سهل عن طريق ال lung بيتحول ل CO وبيطلع …
 H لكن!! كيف نخلص من الحوامض الاخرى ؟؟        عن طريق اطلاق المزيد من

 HCO ديزب ونم صلخا ىتحل داز H لا
 نكممو H2CO3 نوكتيو وعم دحتي ىتحل
 co2 ك هايا انلعلطت lung لا

 يلختبو H نم ديزلما قلطتب وضربو ةيومدلا ةرودلل قلطتو HCO نم ديزلما عنصت ةيلكلا H ةدايز ةلاح في اذا
 لوبلا عم علطي
 رتكا HCO هلا فاضنيب مدلاو ، رتكا يضمح ريصب لوبلا يلاتلاب         



■ In the proximal tubule, thick ascending, and early 
distal tubule H+ ion secretion is mediated by 
secondary active counter-transport mechanism. 
This mechanism accounts for more than 90% of 
the HCO3

- reabsorption 

■ If H+ secretion exceeds the filtered HCO3
- the 

excess H+ ions are buffered in the tubules by 
phosphate and ammonia and excreted as salts 

■ In the late distal tubules and continuing through the 
remainder of the tubular system H+ is secreted by 
primary active transport mechanism 



علطتب Hو لخديب مويدوصلا ف مويدوصلا دوجوم اربو ارب هعلطن اندبو ةيللخا لخاد دوجوم ينجورديهلا نويا

Phosphate : 

Ammonia : 

موجود اصلا لكن تركيزه بزيد 

تعتبر قاعدة ،NH3 لما تربط معها H بتصير NH4 وهو كأيوم موجب بيتحد مع CL وبصير امونيوم 
كلورايد وبنتخلص من واحد من H بهي الطريقة

 : H عندي طريقت% $ط"ق
counter- عن طريق ال renal tubule ١- بالقسم ا$ول من ال

 transport
٢- بالقسم ا$خير من ال renal tubule بنفس طريقة اط"ق H في 

K-H pump مع primary عدةEعدة ،، بينطلق في اEا









Carbonic anhydrase : الخلية غنية بهاد الانزيم وبنبلش العملية من عندو 

احنا اطلقا HCO رجعناه للدورة الدموية ، وهو مو نفس 
الايون يلي نزل من ال filtrate لكن النتيجة ١:١

 H رجعنا واحد للدم وعوضنا الجسم بواحد لكن بالمقابل اطلقنا
buffer system وهكذا لن يضيع ال#













 :ةمهم ةظح"م
 سب ريغت يف ريصي حرو ولغتشي حر lung لا و kidney لا acidosis ريصي ام لوا
 compensated داهف range لا نمض لضي حر control system لا ببسب ph لا

acidosis لا نكل مسجلا يف ريغت رياص ينعي control system نكل ظفاحت تردق 
 acidosis لا ينعي( uncompensated acidosis راص range لا نم تعلط اذا

 )ةرهاظ تراص

 Respiratory acidosis              ةلالحا يمسنب co2 لا سدكت ىلا تداو ينتئرلاب ةلعلا نوكت الم
Respiratory alkalosis                          نم تصلخت كناك دحاو لكو ريييتك co2 علطتب ينتئرلا

 دقفنب ون9 لاهس9ا وا keton bodys تنوكتو يركسلا لتم ضرم يدنع وا تبرخ ةيلك
HCO ةضومحلا ديزب ف                Metabolic acidosis 

 vomiting            Metabolic alkalosis لا قيرط نع ةدعHا ةضومح رسخي



Normal Serum Values for pH, [H+], [HCO3
-], and PCO2 

Normal serum pH 7.4 7.36-7.44 

Normal serum [H+] 40 35-45 nEq/L 

Normal serum [HCO3
-] 24 22-26 mEq/L 

Normal serum PCO2 40 35-45 mmHg 



Summary of Acid-Base Disorders 

Disorder CO2 + H2O  ↔  H+  +  HCO3
- Respiratory 

Compensation 
Renal 
Compensation 

Metabolic 
acidosis 

↓(respiratory 
compensation) 

↑ Hyperventilation 

Metabolic 
alkalosis 

↑(respiratory 
compensation) 

↓ Hypoventilation 

Respiratory 
acidosis 

↑ ↑ None 
↑H+ excretion 

↑HCO3
- reabsorption 

Respiratory 
alkalosis 

↓ ↓ none 
↓H+ excretion 
↓HCO3

- reabsorption 

Heavy arrows indicate primary disturbance 





Test Question: 

Q. If the pH of blood plasma becomes 7.49 due 
to ingested substances, ALL of the following 
would happen to compensate EXCEPT: 

A.  Respiration rate decreases. 
B.  The kidney increases secretion of bicarbonate 

ions. 
C.  Tubule cells produce more ammonia from 

glutamate . 
D.  The partial pressure of carbon dioxide in 

blood would begin to rise. 
E.  There is a rapid excess in the pH of the urine. 



وهيك بنكون خلصنا اخر محاضرة 
لدكتور وليد بمادة الفسيولوجي..

 يبطلا -يدانلا#
…قيفوتلاب

!!


